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e 1T 1.2 0 0 0
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+w 0.9 100 130 121
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DA S
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il RO BEOBE i =
i % % & O|W om | B K =
No O 5. 000 0. 000
No O 7.700 2.700 0. 00 0.0 0.0
No 0 + 10.000 2. 300 0.70 1.6 0.0
No 0 + 15.000 5.520 1. 30 7.2 0.0
No 1 5.577 1.15 6.4 0.0
No 1 + 10.000 10. 865 1. 05 11. 4 0.0
No 2 10. 000 1. 00 10.0 0.0 0.00 0.0
No 2 7.150 7.150 0.95 6.8 0.4 0. 20 1.4
No 2+ 8.150 1. 000 0.90 0.9 0.4 0. 40 0.4
No 2 + 13.600 5. 450 0.0 0.0
No 2 + 14.600 1. 000 0.0 0.0
a @ 51.562 44.3 m3 1.8 m3
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Al AR HE . . i B
Wy oM E B B & | W oy B &
No 4. 500 0. 000
No 5. 000 0. 500 0.0
No 10. 000 5. 000 0.0
No 15. 000 5. 000 0.0
No 5. 344 0.0
No 10. 000  10.986 0.0
No 10. 000 0.0 0. 00 0.0
No 7.150 7.150 0.7 0.35 2.5
No 8. 150 1. 000 0.7 0.70 0.7
No 13. 870 5. 720 0.0
No 16. 570 2. 700 0.0
& & 53. 400 3.2 m3
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mEl AE) W
il RO BEOBE i =
Wy o E B R = | W S SHE =
No 0+ 4.500 0. 000 0.0
No 0+ 5.000 0. 500 0.1 0.05 0.0
No 0 + 10.000 5. 000 1.9 1. 00 5.0
No 0 + 15.000 5. 358 5.2 3.55 19.0
No 1 5. 408 8.9 7.05 38. 1
No 1 +10.000] 10.613 8.5 8.70 92. 3
No 2 10. 000 9.3 8.90 89.0
No 2+ 7.150 7. 150 4.3 6. 80 48. 6
No 2+ 8.150 1. 000 4.3 4.30 4.3
No 2 +13.600 5. 450 3.2 3.75 20. 4
No 2 + 14.600 1. 000 0.0 1. 60 1.6
a @ 51.479 318.3 m3
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RE FEE b
il RO BEOBE i =
Wy o E B R = | W RS SR G 1
No 0+ 4.500 0. 000 0.0
No 0+ 5.000 0. 500 0.0 0. 00 0.0
No 0 + 10.000 5. 000 2.5 1. 25 6.3
No 0 + 15.000 5. 385 2.5 2.50 13.5
No 1 5. 437 3.5 3.00 16. 3
No 1 +10.000] 10.654 4.6 4. 05 43.1
No 2 10. 000 4.8 4. 70 47.0
No 2+ 7.150 7. 150 4.9 4. 85 34.7
No 2+ 8.150 1. 000 2.6 3.75 3.8
No 2+ 9.150 1. 000 0.0 1.30 1.3
A = 46. 126 166.0 m3
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No 0+ 4.500 0. 000 0.0

No 0+ 5.000 0. 500 0.0 0. 00 0.0

No 0 + 10.000 5. 000 0.5 0.25 1.3

No 0 + 15.000 5. 484 1.2 0.85 4.7

No 1 5.551 1.1 1. 15 6.4

No 1 +10.000] 10.818 1.0 1. 05 11. 4

No 2 10. 000 1.0 1. 00 10. 0

No 2+ 7.150 7. 150 0.7 0.85 6.1

No 2+ 8.150 1. 000 0.0 0.35 0.4
A = 45. 503 40.3 m3
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No 0+ 4.500 0. 000 0.0
No 0+ 5.000 0. 500 0.0 0. 00 0.0
No 0 + 10.000 5. 000 0.5 0.25 1.3
No 0 + 15.000 5.351 0.7 0. 60 3.2
No 1 5. 403 0.9 0. 80 4.3
No 1 +10.000] 10.607 1.5 1. 20 12.7
No 2 10. 000 1.5 1. 50 15.0
No 2+ 7.150 7. 150 1.6 1. 55 11.1
No 2+ 8.150 1. 000 1.6 1. 60 1.6
No 2+ 9.150 1. 000 0.0 0. 80 0.8
A = 46.011 50.0 m3
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wrom o B 0 B[ om | oF ¥ B B

No 0+ 4.500[  0.000 0.0

No 0+ 5.000[  0.500 0.0/ 0.00 0.0

No 0 +10.000[  5.000 0.1/ 0.05 0.3

No 0 +15.000]  5.444 0.2 0.15 0.8

No 1 5. 499 0.2]  0.20 1.1

No 1 +10.000[ 10.750 0.3 0.25 2.7

No 2 10. 000 0.3 0.30 3.0

No 2+ 7.150[  7.150 0.4/ 0.35 2.5

No 2+ 8.150[  1.000 0.0, 0.20 0.2

op
(1

A 45. 343 10.6 m3
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E¥ELT
PR a7 U — b (L=38. 78m)
FEEEIE 0.430%38.78 m2 16.7
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1 [~—8
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G TRFERCE (L=9. Tm)
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THEHEKLT m 51. 4

i A 0.5X51.4 m3 25.7
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R % T I F= M E KB B & B AE E
B+ B<2.5 i+t 2.5=B<4.0
il RO BEOBE i =
Wy o E B R B |W m E B =
No 0 - 2.500 0. 000
No 0 - 2.000 0. 500 0.0 0.0
No 0 2. 000 0.0 0.0
No 0+ 2.000 2. 000 0.0 0.0
No 0+ 2.500 0. 500 0.0 0.0
No 0+ 5.000 2. 500 0.0 0. 00 0.0 0.0 0. 00 0.0
No 0 + 10.000 5. 000 0.1 0. 05 0.3 0.2 0.10 0.5
No 0 + 15.000 5. 000 0.2 0.15 0.8 0.4 0. 30 1.5
No 1 5. 000 1.8 1. 00 5.0 0.7 0.55 2.8
No 1 +10.000] 10.000 1.5 1. 65 16.5 0.6 0. 65 6.5
No 2 10. 000 0.6 1.05 10.5 0.7 0. 65 6.5
No 2 +10.000] 10.000 0.6 0. 60 6.0 0.0 0.35 3.5
No 3+ 8.000] 18.000 0.0 0. 30 5.4 0.0
N E 70. 500 44.5 m3 21.3 m3
No 6 0. 000 0.0 0.0 0.0 0.0
No 6 +19.000] 19.000 0.6 0. 30 5.7 1.1 0.55 10.5
No 7 + 7.000 8. 000 0.6 0. 60 4.8 1.1 1. 10 8.8
No 7 + 9.000 2. 000 0.0 0. 30 0.6 0.0 0. 55 1.1
N E 29. 000 11.1 m3 20.4 m3
= 99. 500 55.6 m3 41.7 m3
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Y/E\IJ SN FtE %E . = . = Tﬁg] g
Wrom o B %k =& |k om | F B &k =

No 0 - 2.500 0. 000 0.0

No 0 - 2.000 0. 500 17.3 8. 65 4.3

No O 2. 000 17.3 17. 30 34.6

No 0+ 2.000 2. 000 17.3 17. 30 34.6

No 0+ 2.500 0. 500 7.4 12. 35 6.2
No 0 + 5.000 2. 500 7.4 7.40 18.5
No 0 +10.000 5. 000 7.6 7.50 37.5
No 0 + 15.000 5. 000 7.2 7.40 37.0
No 1 5. 000 2.0 4. 60 23.0
No 1 +10.000 10. 000 1.7 1. 85 18. 5
No 2 10. 000 2.7 2.20 22.0
No 2 + 10.000 10. 000 2.0 2.35 23.5
No 3 + 8.000 18. 000 0.0 1. 00 18.0
N E 70. 500 277.7 m3
No 6 0. 000 0.0 0.0

No 6 +19.000 19. 000 10.0 5.00 95.0

No 7+ 7.000 8. 000 10.0 10. 00 80.0

No 7+ 9.000 2. 000 0.0 5.00 10.0

N F 29. 000 185.0 m3

o
W

A 99. 500 462.7 m3
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EIREL 2 bk e
EMEERE | mammmae | kR (BB $K§L;§'L‘ Fomoan | o mong | 00 8 a‘uﬁéru
NO. 0+ 10.000 [ 10.000 9. 81
5.000 | 100.0 10.405 | 5.520 | 5.520 0.000
NO. 0+ 15.000 | 15.000 11.00
5.000 | 100.0 11.535 | 5.577 | 5.577 6. 885
NO. 1+ 0.000 | 20.000 12.07 1377
7.163 | 100.0 12.070 | 8.028 [ 10. 865 13.770
NO. 1+  7.163 | 27.163 12.07 1377
2.837 | 100.0
NO. 1+ 10.000 | 30.000 1377
RIE 2% () BET RIE 4=
ienpes | manmm | 2E | BORE ‘ﬂ:ﬂé'b‘ Fomoan | o mong | 00 8 a‘uftgu
NO. 0 + 10.000 [ 10.000 3.79 7.18
5.000 | 100.0 4310 | 5.216 | 5.216 7.700
NO. 0 + 15.000 | 15.000 483 8.22
5.000 | 100.0 5.300 | 5.265 | 5.265 8.745
NO. 1+ 0.000 | 20.000 5.71 9.27
7.163 | 100.0 5.725 | 7.573 | 10.410 9.130
NO. 1+ 7.163 | 27.163 5. 68 8.99
2.8317 100.0
NO. 1+ 10.000 | 30.000 5. 68 8.99
R (NRE) RET R (/
BIERE | manmma | $£B |BOME ﬁgg“ TATenE | s | B uE *_“Zijé"“
NO. 0 + _10.000 | 10.000 2.14 6.53
5.000 | 100.0 2.630 | 5.132 | 5.132 1.015
NO. 0 + 15.000 | 15.000 3.12 7.50
5.000 | 100.0 3.685 | 5.184 | 5.184 8. 060
NO. 1+ 0. 000 | 20.000 4.25 8. 62
7.163 | 100.0 4.290 | 7.470 | 10.307 8.480
NO. 1+ 7.163 | 27.163 4.33 8.34
2.837 100.0
NO. 1+ 10.000 | 30.000 4.33 8.34
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5344 | 5 344 8 155 | 5408 | 5 408
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fFELT

EED) )

e L e R L R e LT
8 04

5385 | 5 385 9680 | 5484 | 5 484
10.42

5437 | 5 437 11015 | 555 | 5 551
161

7.817 [ 10654 T1.420 | 7.081 | 10618
1.23
1.23

) B (N

FeRLUs | | BOME | T e | VRO | mmm
837

5351 | 5 351 8.880 | 5444 | 5 444
9.39

5.403 | 5403 9.075 | 5.499 | 5 499
0.56

7.770 | 10.607 10.465 | 7.913 | 10.750
10.37
10.37




A A N =
B A B EHEE
T & k= 71—k
100 330
av9Y)—+F
o ck=18N/mm2
N [=)
R o 39068
~N - =r 10782 28286 W
= _ 4140
2 AR
430 e
10764 28015
I 38779 |
H H e =1 = BN &
Hopfko ) —h i TIER No0.0+10.00~No.2+7.15 JEBHXEMR m 38.78
=1 m 38.78
(10.0m*4729)
a7 —hk o ck=18N/mm2|  (0.250%0.430-0.150 < 0.330/2) X 10.0 m3 0.828
o N A (0.250+0.100) X 10.0 m2 3.500
H #ks WHAMt=10mm | 0.828/10.0 m2 0.083
(1.0:0%7=0)
a7 —h o ck=18N/mm2| 0.828/10.0 % 38.78 m3 3.21
s N 3.500/10.0 % 38.78 m2 13.57
H ks JEEFt=10mm | 0.083/10.0%X38.78 m2 0.32
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